# Analysis of Feedback

Students Feedback on Teacher

Overall Average Rating (Using the 4-point Scale) By 20 Students

# Year-2015-16

# Name of the Teacher-Prof. Dr. A. S. Raju

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	14×4=56	6×3=18	0×2=0	0×1=0	74÷20=3.7
2	Communication Skills (in terms of articulation and comprehensibility)	16×4=64	4×3=1 2	0×2=0	0×1=0	76÷20=3.8
3	Sincerity / Commitment of the teacher	16×4=64	4×3=1 2	0×2=0	0×1=0	76÷20=3.8
4	Interest generated by the teacher	14×4=56	6×3=1 8	0×2=0	0×1=0	74÷20=3.7
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	15×4=60	4×3=1 2	1×2=2	0×1=0	74÷20=3.7
6	Ability to integrate content with other courses	15×4=60	4×3=1 2	1×2=2	0×1=0	74÷20=3.7
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	17×4=68	3×3=9	0×2=0	0×1=0	77÷20=3.85
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	19×4=76	1×3=3	0×2=0	0×1=0	79÷20=3.95
9	Provision of sufficient time for feedback.	12×4=48	8×3=2 4	0×2=0	0×1=0	72÷20=3.6
1 0	Overall Rating			_		33.8÷9=3.75

Remark	A(Very Good )	B(Good)	B(Good) C (Satisfactory )	
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

Revised Guidelines of IQAC and submission of AQAR

Page 30

# Name of the Teacher-Prof. Tambe Sir.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	19×4=76	1×3=3	0×2=0	0×1=0	79÷20=3.95
2	Communication Skills (in terms of articulation and comprehensibility)	10×4=40	10×3=30	0×2=0	0×1=0	70÷20=3.5
3	Sincerity / Commitment of the teacher	17×4=68	2×3=6	1×2=2	0×1=0	76÷20=3.8
4	Interest generated by the teacher	18×4=72	2×3=6	0×2=0	0×1=0	78÷20=3.9
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	10×4=40	10×3=30	0×2=0	0×1=0	70÷20=3.5
6	Ability to integrate content with other courses	19×4=76	1×3=3	0×2=0	0×1=0	79÷20=3.95
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	12×4=48	7×3=21	1×2=2	0×1=0	71÷20=3.55
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	14×4=56	6×3=18	0×2=0	0×1=0	74÷20=3.7
9	Provision of sufficient time for feedback.	9×4=36	10×3=30	1×2=2	0×1=0	68÷20=3.4
1 0	Overall Rating			_		33.25÷9=3.69

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher-Prof. Shinde Sir.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	19×4=76	1×3=3	0×2=0	0×1=0	79÷20=3.95
2	Communication Skills (in terms of articulation and comprehensibility)	5×4=20	13×3=69	2×2=4	0×1=0	63÷20=3.15
3	Sincerity / Commitment of the teacher	17×4=68	1×3=3	1×2=2	0×1=0	73÷20=3.65
4	Interest generated by the teacher	6×4=24	14×3=42	0×2=0	0×1=0	66÷20=3.3
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	6×4=24	12×3=36	1×2=2	0×1=0	62÷20=3.1
6	Ability to integrate content with other courses	13×4=52	6×3=18	1×2=2	0×1=0	72÷20=3.6
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	12×4=48	5×3=15	3×2=6	0×1=0	69÷20=3.45
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	10×4=40	8×3=24	2×2=4	0×1=0	68÷20=3.4
9	Provision of sufficient time for feedback.	11×4=44	5×3=15	4×2=8	0×1=0	67÷20=3.35
1 0	Overall Rating			_		30.95÷9=3.43

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

## Name of the Teacher- Dr. More Sir

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
2	Communication Skills (in terms of articulation and comprehensibility)	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
3	Sincerity / Commitment of the teacher	12×4=48	7×3=21	1×2=2	0×1=0	71÷20=3.55
4	Interest generated by the teacher	16×4=64	3×3=9	1×2=2	0×1=0	75÷20=3.75
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	11×4=44	9×3=27	0×2=0	0×1=0	71÷20=3.55
6	Ability to integrate content with other courses	11×4=44	9×3=27	0×2=0	0×1=0	71÷20=3.55
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	15×4=60	4×3=12	1×2=2	0×1=0	74÷20=3.7
9	Provision of sufficient time for feedback.	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
1 0	Overall Rating			_		33.25÷9=69

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher-Prof. Hirade Sir.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	17×4=68	3×3=9	0×2=0	0×1=0	77÷20=3.85
2	Communication Skills (in terms of articulation and comprehensibility)	13×4=52	7×3=21	0×2=0	0×1=0	73÷20=3.65
3	Sincerity / Commitment of the teacher	14×4=56	6×3=18	0×2=0	0×1=0	74÷20=3.7
4	Interest generated by the teacher	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	13×4=52	7×3=21	0×2=0	0×1=0	73÷20=3.65
6	Ability to integrate content with other courses	8×4=32	11×3=33	1×2=2	0×1=0	67÷20=3.35
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	18×4=72	2×3=6	0×2=0	0×1=0	78÷20=3.9
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
9	Provision of sufficient time for feedback.	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
1 0	Overall Rating			_		33.4÷9=3.71

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher- Dr. Pandhare Sir.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	19×4=76	1×3=3	0×2=0	0×1=0	79÷20=3.95
2	Communication Skills (in terms of articulation and comprehensibility)	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
3	Sincerity / Commitment of the teacher	9×4=36	10×3=30	0×2=0	0×1=0	66÷20=3.3
4	Interest generated by the teacher	12×4=48	7×3=21	0×2=0	0×1=0	69÷20=3.45
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	11×4=44	9×3=27	0×2=0	0×1=0	71÷20=3.55
6	Ability to integrate content with other courses	17×4=68	3×3=9	0×2=0	0×1=0	77÷20=3.85
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	8×4=32	12×3=36	0×2=0	0×1=0	68÷20=3.4
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	9×4=36	10×3=30	1×2=2	0×1=0	68÷20=3.4
9	Provision of sufficient time for feedback.	10×4=40	4×3=12	4×2=8	0×1=0	60÷20=3
1 0	Overall Rating			_		31.7÷9=3.52

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher-Prof. Bhawal Sir.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	17×4=68	3×3=9	0×2=0	0×1=0	77÷20=3.85
2	Communication Skills (in terms of articulation and comprehensibility)	13×4=52	7×3=21	0×2=0	0×1=0	73÷20=3.65
3	Sincerity / Commitment of the teacher	11×4=44	9×3=27	0×2=0	0×1=0	68÷20=3.4
4	Interest generated by the teacher	18×4=72	2×3=6	0×2=0	0×1=0	78÷20=3.9
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
6	Ability to integrate content with other courses	11×4=44	8×3=24	1×2=2	0×1=0	70÷20=3.5
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
9	Provision of sufficient time for feedback.	9×4=36	11×3=33	0×2=0	0×1=0	69÷20=3.45
1 0	Overall Rating			_		33.5÷9=3.72

Remark	A(Very Good )	B(Good) C (Satisfac		D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher-Prof. Kakade Sir.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	18×4=72	2×3=6	0×2=0	0×1=0	78÷20=3.9
2	Communication Skills (in terms of articulation and comprehensibility)	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
3	Sincerity / Commitment of the teacher	14×4=56	6×3=18	0×2=0	0×1=0	74÷20=3.7
4	Interest generated by the teacher	12×4=48	6×3=18	2×2=4	0×1=0	70÷20=3.5
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
6	Ability to integrate content with other courses	11×4=44	9×3=27	0×2=0	0×1=0	71÷20=3.55
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	11×4=44	8×3=24	1×2=2	0×1=0	70÷20=3.5
9	Provision of sufficient time for feedback.	13×4=52	6×3=18	1×2=2	0×1=0	72÷20=3.6
1 0	Overall Rating			_		33.5÷9=3.67

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher-Prof. S.A. Kotkar Sir.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	13×4=52	5×3=15	2×2=4	0×1=0	71÷20=3.55
2	Communication Skills (in terms of articulation and comprehensibility)	13×4=52	4×3=12	3×2=6	0×1=0	70÷20=3.5
3	Sincerity / Commitment of the teacher	16×4=64	2×3=61	1×2=2	0×1=0	72÷20=3.6
4	Interest generated by the teacher	10×4=40	8×3=24	5×2=10	0×1=0	74÷20=3.7
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	12×4=48	5×3=15	2×2=4	0×1=0	67÷20=3.35
6	Ability to integrate content with other courses	9×4=36	7×3=21	2×2=4	0×1=0	61÷20=3.5
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	13×4=52	6×3=18	1×2=2	0×1=0	72÷20=3.55
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	16×4=64	3×3=9	1×2=2	0×1=0	75÷20=3.75
9	Provision of sufficient time for feedback.	11×4=44	8×3=24	0×2=0	0×1=0	68÷20=3.4
1 0	Overall Rating			_		31.45÷9=3.11

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher-Prof. Khule P.C.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	19×4=76	1×3=3	0×2=0	0×1=0	79÷20=3.95
2	Communication Skills (in terms of articulation and comprehensibility)	11×4=44	9×3=27	1×2=2	0×1=0	73÷20=3.65
3	Sincerity / Commitment of the teacher	15×4=60	4×3=12	1×2=2	0×1=0	74÷20=3.7
4	Interest generated by the teacher	13×4=52	6×3=18	1×2=2	0×1=0	72÷20=3.6
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
6	Ability to integrate content with other courses	14×4=56	4×3=12	2×2=4	0×1=0	72÷20=3.6
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	17×4=68	3×3=9	0×2=0	0×1=0	77÷20=3.85
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
9	Provision of sufficient time for feedback.	19×4=76	0×3=0	0×2=0	0×1=0	76÷20=3.8
1 0	Overall Rating			_		33.71÷9=3.74

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher-Prof. Pache Sir.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	16×4=64	4×3=12	0×2=0	0×1=0	76 ÷20=3.8
2	Communication Skills (in terms of articulation and comprehensibility)	12×4=48	8×3=24	0×2=0	0×1=0	72÷20=3.6
3	Sincerity / Commitment of the teacher	14×4=56	6×3=18	0×2=0	0×1=0	74÷20=3.7
4	Interest generated by the teacher	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	17×4=68	3×3=9	0×2=0	0×1=0	77÷20=3.85
6	Ability to integrate content with other courses	12×4=48	8×3=24	0×2=0	0×1=0	72÷20=3.6
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	16×4=64	3×3=9	1×2=2	0×1=0	75÷20=3.75
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	14×4=56	6×3=18	0×2=0	0×1=0	74÷20=3.7
9	Provision of sufficient time for feedback.	12×4=48	8×3=24	0×2=0	0×1=0	72÷20=3.6
1 0	Overall Rating			_		33.35÷9=3.70

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher-Prof. Dhirde Sir.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	20×4=80	0×3=0	0×2=0	0×1=0	80÷20=4
2	Communication Skills (in terms of articulation and comprehensibility)	14×4=56	6×3=18	0×2=0	0×1=0	74÷20=3.7
3	Sincerity / Commitment of the teacher	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
4	Interest generated by the teacher	17×4=68	3×3=9	0×2=0	0×1=0	77÷20=3.85
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	12×4=48	7×3=21	1×2=2	0×1=0	71÷20=3.55
6	Ability to integrate content with other courses	12×4=48	9×3=27	0×2=0	0×1=0	75÷20=3.75
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	8×4=32	9×3=27	3×2=6	0×1=0	65÷20=3.25
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	12×4=48	8×3=24	0×2=0	0×1=0	72÷20=3.6
9	Provision of sufficient time for feedback.	15×4=60	2×3=6	3×2=6	0×1=0	72÷20=3.6
1 0	Overall Rating			_		33.1÷9=3.67

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher-Prof. Mohite Sir.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
2	Communication Skills (in terms of articulation and comprehensibility)	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
3	Sincerity / Commitment of the teacher	15×4=60	4×3=12	1×2=2	0×1=0	74÷20=3.7
4	Interest generated by the teacher	18×4=72	2×3=6	0×2=0	0×1=0	78÷20=3.9
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
6	Ability to integrate content with other courses	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	17×4=68	3×3=9	0×2=0	0×1=0	77÷20=3.85
9	Provision of sufficient time for feedback.	13×4=52	7×3=21	0×2=0	0×1=0	73÷20=3.65
1 0	Overall Rating			_		34÷9=3.77

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher-Prof. Rajale Madam

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	18×4=72	2×3=6	0×2=0	0×1=0	78÷20=3.9
2	Communication Skills (in terms of articulation and comprehensibility)	14×4=56	6×3=18	0×2=0	0×1=0	74÷20=3.7
3	Sincerity / Commitment of the teacher	17×4=68	2×3=6	1×2=2	0×1=0	76÷20=3.8
4	Interest generated by the teacher	17×4=68	3×3=9	0×2=0	0×1=0	77÷20=3.85
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	18×4=72	2×3=6	0×2=0	0×1=0	78÷20=3.9
6	Ability to integrate content with other courses	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	15×4=60	5×3=15	0×2=0	0×1=0	75÷20=3.75
9	Provision of sufficient time for feedback.	14×4=56	6×3=18	0×2=0	0×1=0	74÷20=3.7
1 0	Overall Rating			_		34.2÷9=3.8

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5

# Name of the Teacher-Prof. Punam Vaddepalli Madam.

Sr. No	Parameters	A(Very Good ) (4 Points)	B(Good) (3 Points)	C (Satisfac tory) (2 Points)	D ( Unsatisfac tory) (1 Points)	Average Rating (Total Points/20)
1	Knowledge base of the teacher (as perceived by you)	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
2	Communication Skills (in terms of articulation and comprehensibility)	17×4=68	3×3=9	0×2=0	0×1=0	77÷20=3.85
3	Sincerity / Commitment of the teacher	14×4=56	6×3=18	1×2=2	0×1=0	77÷20=3.8
4	Interest generated by the teacher	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
5	Ability to integrate course material with environment/other issues, to provide a broader perspective	18×4=72	2×3=6	0×2=0	0×1=0	78÷20=3.9
6	Ability to integrate content with other courses	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
7	Accessibility of the teacher in and out of the class (includes availability of the teacher to motivate further study and discussion outside class)	16×4=64	4×3=12	0×2=0	0×1=0	76÷20=3.8
8	Ability to design quizzes /Tests /assignments / examinations and projects to evaluate students understanding of the course	14×4=56	6×3=18	0×2=0	0×1=0	74÷20=3.7
9	Provision of sufficient time for feedback.	13×4=52	7×3=21	0×2=0	0×1=0	73÷20=3.65
1 0	Overall Rating			_		34.1÷9=3.78

Remark	A(Very Good )	B(Good)	C (Satisfactory )	D(Unsatisfactory)
Range of points	3 to 4	2 to 3	1.5 to 2	0 to 1.5